Math 201 Quiz 1
August 28, 2014

Name: /L} f\( & \‘f\! 6 E S

Instructions: No calculators. Use your own scrap. Write your fully simplified answers in the space provided.

1. Evaluate each expression without a calculator.
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2. Simplify each expression. No negative exponents in your answer.
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3. Expand and simplify.
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4. Factor each expression.
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5. Simplify the rational expression.
@) x2+3x+2 Lo a sl - (b) 2x%—x—1 x+3 i
af ———= M=t ; = _%-C
x2—x-2 x%2-9  2x+1
2 22
x x+1 T x y o N
_ = iy L d) =—= = ; vy
© =3 %2 @i
6. Rationalize the expression and simplify. ___”_\M S T
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7. Rewrite by completing the square.
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Solve the equations for all real solutions.
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(c) 2x>+4x+1=0 x = = = (d)3lx—4| =10 x =

b)x2—x—12=0 x=

Solve each inequality. Write your answer in interval notation.

(@) —4<5-3vr=<17 xe_[—%3)

Blat<zx+8 ze_ (=2, 4)
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State whether each equation is true or false by writing “T” or “F”, respectively.
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Find an equation for the line that passes through the point (2, —5) and
(a) hasslope —3 % = —SAA ‘1 (b) is parallel to the x-axis U=

(c) is parallel to the y-axis __ A= 2

Find the equation of the line that contains A(—7,4) and B(5, —12). _‘ﬂ =

(d) is parallel to 2x — 4y =3 __

Find the center and radius of the circle with equation x? + y2 — 6x + 10y + 9 = 0.
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(a) Center '2,-5 ) (b) Radius

It £(x) = %, find and simplify L&0TD = [T+ b A

Find the domain of the following functions. Write in interval notation.
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@) f() = ot D: (£ 9920l (05) g(x) = g
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If f(x) = x2 + 2x — 1 and g(x) = 2x — 3, find:

s R AR blgef 2X

Find the exact values.

(a) tanZ = J2 (b)sin(%“) =~ (2 (c) secZ =
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18. Find all values of x such that sin2x = sinx for0 < x < 2m. x = O{, ‘TF/:;/‘ -Tr; /2/ T

19. Sketch the graphs of the given functions.
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